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Verify each identity.

1. sinxtanx = secx — cosXx
2.1 =tanxcosxcscx

3. secx — secxsin?x = cosx

standardized Test Practice

4. Which of the following is equivalent to .??:!lc%‘g!i?
A cosé@ B sec@ C sing D cscé
Smy . Cfy

ANS.WERS N &ini 1354 sy
1. sinx ianx = 3!1’32(%) Qe

_ sin2x l

= cosXx poopy

s cosX Sin 9 Q,

1 cos?x

o——
e

cOSX  COSX
= SecX — COSX

, sinx / 1
2. tanx cosSx CsCXx = s COZX o
B & cos8Xx sinx
__ sihx cosx
sinx cosx
= 1

3. secx — secx sin?x = secx(1 — sin2x)
= secx(cos?x)

1 e 2
= cosx * CO8"X
= CO8X
4. C
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Today we will use our identities to solve trig equations.

But first, let's review how to solve a trig equation.

Solve 4sinx + 1 = 4,Don't forget to check your solutions!
Ysmi =3
s /4

Solve by factoring cos x sinx = 3 cosx
O= 35X —SXSInK

O=&wsx (3-Sinx)
HosXx =0  3-Sinx=0

@D — S =3

Solve using substitution cos*9 +cos29—2=0
(5% +1 Y6 -1) =0
wsH=-2 0o
| iy
no Soludion (086~ =



Now, Solve using an identity in the interval [0, 27].

2cos?x —sinx—1=0

2 (1-8n?x) -8inx ~1=0

2-2SmX-Smny (=0
-2 -Siny ¥\ =0
ZSiniX +sinxg -1 = O
@,smy -1 Ysmx +1 )=0

ny= ~[_
Sinx = %

1T,
g=°

.

sin? x — sinx + 1 = cos? x
N -Sinx H = [ -SintK
2sintx -sink =0

snx (285nk -() =O

sinx =0 Zm =0

Rz
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(Zosx +1 Xcosx — | =0




Harder, this time you need to square both sides to be able to use an
identity.

sinx—cosx =1
= 2
(smy-cosx) = 1 ke
6‘/nx~wfy)(f/mc ’(01)6) =
S’y -1losxgny S Tk
| =2 (asxsSiny =1
~2CUIXSinK = 1)
(oSXSiny =0
(05X =0 SmK=0

D

csCX — cotx =1
(scx-atx)*=1" Gtk = csc’

cs& ~72csexcobx +at™ =1

(Cok % +/\ ~2cSex otk +at?K =)
ZCO‘EZY - Z(SCXCOE'X =0
Z (8K _ Zlosy
28K L0
SmX Sin*X
2¢osx (cosk ~1) o
sinty

: ; x=0
2005%X=0 cusx -1=0 (
CQSX =0 @ix =| X: z/% ><
Assignment: Page 324 (45)
Page 331 (13-29,33 odds)
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